Honors Calculus 1 Test 4 — Fall 2011

NAME HEY E-NUMBER

SHOW ALL WORK!!! Partial credit will only be given for answers which are partially correct!
Be clear and convince me that you understand what is going on. Use equal signs when things are
equal (and don’t use them when things are not equal). Indicate when you have used L’Hopital’s
Rule and don’t forget the “+C” when necessary, as we did in class. Your grade is based on the
work you show and the arguments you make. If applicable, put your answer in the box provided.
Each numbered problem is worth 12 points. No calculators.
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3,4. A rectangluar plot of farmland will be bounded on one side by a river and on the other three
]0 2 6(;1 sides by a single-strand electric fence. With 800 m of wire at your disposal, what is the largest
area you can enclose? Use the 5 step method used in class.
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5. (a) Use Newton’s method to estimate the one real solution of 3+ 3z +1 = 0. Start with zg = 0
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_ 5. (b) Evaluate f (EB—Z; — g% — 5) dz. Be sure to use the correct notation for your answer.
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6, Give a complete definition of f (z) dz. Include definitions of partition, norm of the partition,

’%‘m N and Riemann sum.
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7 State the Fundamental Theorem of Calculus (both parts, with hypotheses).
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8. Find the area between the graphs of y = 1 + cosz and y = 2 for 2 € [0, 7).
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Honors Bonus. Find dy/dz for y == sin™! t dt. ‘Explain your answer.
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